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Question Number : 1 Question Id : 89951410010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a task 1s outsourced to a supplier, the most significant form of control 1s exercised
through

1. Direct supervision

2. Rules and regulations

3. Output control

4. Culture control

Options :

89951439322. 1
89951439323. 2
89951439324.3
89951439325. 4

Question Number : 2 Question Id : 89951410011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What impact does uncertainty in the business environment have on outsourcing contracts?
1. It increases transaction costs, thereby favoring outsourcing decision

2. It reduces transaction costs, thereby having a negatrve impact on outsourcing decision
3. Itincreases transaction costs, thereby having a negative impact on outsourcing decision
4Tt reduces transaction costs, thereby favoring outsourcing decision

Options :

89951439326. 1
89951439327.2
89951439328. 3
89951439329. 4



Question Number : 3 Question Id : 89951410012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The kev reason why Bhart1 Aurtel outsourced several of its core activities to orgamizations such
as Ericson and IBM i1s
1. It wanted to reduce cost of its operations
2.The outsourced activities were no longer deemed to be important for its success
3 It wanted to leverage specialization of its suppliers
4 It was facing significant challenges in managing itself, because the organization had grown
very large
Options :
89951439330. 1
89951439331.2
89951439332.3
89951439333. 4

Question Number : 4 Question Id : 89951410013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The reason(s) why Apple outsources manufacturing of its hardware devices 13 / are
1. Apple is not good 1n manufacturing hardware devices

2. Apple wants to focus on certain activities such as designing

3. Apple’s outsourcing partners are not good in branding and 1t’s a complimentary
relationship

4. All of the above
Options :
89951439334. 1
89951439335.2
89951439336. 3
89951439337. 4

Question Number : 5 Question Id : 89951410014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following creates challenges in having a matrix structure?
1. It creates additional overheads for the organization
2. It violates one of the fundamental principle of organizing — one person one boss

3. It can create problems for an employee if his‘her two bosses differ on an 1ssue
4. All of the above

Options :

89951439338. 1
89951439339. 2
89951439340. 3
89951439341. 4

Question Number : 6 Question Id : 89951410015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s true when there 18 "Division of Labor’:

a. Employees focus on narrow piece of job

b. There 1s an emphasis on efficiency
c. The job might get boring and monotonous

1. Only a
2. 0nlya b

3. Onlv bc

4. All of the above
Options :
89951439342. 1
89951439343. 2
89951439344, 3
89951439345. 4

Question Number : 7 Question Id : 89951410016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is usually true as an emplovee becomes senior in an organization
1. Rule based control 1s replaced by culture and output based control

2. Durect supervision 1s replaced by rules and output based control

3. Culture control is replaced by rules and output based control

4. Output based control 15 replaced by direct supervision and rule based control

Options :

89951439346. 1
89951439347. 2
89951439348. 3
89951439349. 4

Question Number : 8 Question Id : 89951410017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A key reason why engineering industries have a lot of outsourcing contracts 1s

1. Engineering industries are impacted less from business uncertainties
2. Engineering industries are not subjected to high degree of litigation
3. Engineening tasks are relatively easy to modulanze and standardize
4. There are large number of suppliers available to manufacture engineering modules

Options :

89951439350. 1
89951439351.2
89951439352.3
89951439353. 4

Question Number : 9 Question Id : 89951410018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



From a transaction costs perspective, which of the following makes market based
arrangements (such as outsourcing) unfavorable?

1. Potential of opportunistic behavior by the supplier

2. Potential of opportunistic behavior by employees of organization

3. Tendency of suppliers to charge high profits

4. Lack of long term orientation from the suppliers

Options :

89951439354. 1
89951439355.2
89951439356. 3
89951439357. 4

Question Number : 10 Question Id : 89951410019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What impact does adequate information about a potential supplier have on outsourcing
contracts?

1. It increases transaction costs, thereby favoring outsourcing decision

2. Tt reduces transaction costs, thereby having a negative impact on outsourcing decision
3. It increases transaction costs, thereby having a negative impact on outsourcing decision
4. It reduces transaction costs, thereby favoring outsourcing decision

Options :

89951439358. 1
89951439359. 2
89951439360. 3
89951439361. 4

Question Number : 11 Question Id : 89951410020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Eisk diversification in the context of outsourcing refers to

1. Having a balanced portfolio of activities

2. Identifying suppliers whose business have low risks of failure

3. Passing some of the organization’s business risks to suppliers through contracts
4. Choosing to do only those activities that have low business nisks



Options :

89951439362. 1
89951439363. 2
89951439364. 3
89951439365. 4

Question Number : 12 Question Id : 89951410021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Alfred Sloan felt the need to decentralize General Motors™ organization structure because
1. He wanted to create the role of general managers

2. He wanted to cater to needs of different customers

3. A decentralized structure could deliver greater efficiency

4. A decentralized structure was better suited to handle vaniety of operations
Options :
89951439366. 1
89951439367. 2
89951439368. 3
89951439369. 4

Question Number : 13 Question Id : 89951410022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fast food restaurants like McDonalds can provide food at lower price compared to gourmet
restaurants because

1. Gourmet restaurants offer a lot more variety to customers

2. Fast food restaurants do not want to make high profits

3. Employees at fast food restaurants are more competent

4. Fast food restaurants offer greater customization
Options :
89951439370. 1
89951439371. 2
89951439372.3
89951439373. 4



Question Number : 14 Question Id : 89951410023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One of the disadvantages of a “flat™ organization 1s

1. It has narrow spans of control

2. It slows down decision making

3. Emplovees may not recetve enough attention from their supeniors
4. It provides lot of opportunities for promotion
Options :
89951439374. 1
89951439375. 2
89951439376. 3
89951439377. 4

Question Number : 15 Question Id : 89951410024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A typical structure for an entrepreneunial organization 1s

1. Functional structure with high degree of specialization

2. Divisional structure with focus on customer responsiveness

3. Hybrid structure that has elements of both input and output based groupings
4. Structure 15 hikely to be undefined with lack of specialization

Options :

89951439378. 1
89951439379. 2
89951439380. 3
89951439381. 4

Question Number : 16 Question Id : 89951410025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not considered among the disadvantages of a functional structure?
1. Development of functional silos

2. Slow in responding to market needs

3. Poor utilization of resources

4. Collaboration across functions



Options :

89951439382. 1
89951439383. 2
89951439384. 3
89951439385. 4

Question Number : 17 Question Id : 89951410026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A multinational enterprise with an international division as part of its home country structure 1s
1. Likely to be in 1ts early stage of internationalization

2. Likely to be exporting standardized products manufactured 1n home country

3. Both options “a” and “b”

4. Option “b” but not option “a”
Options :

89951439386. 1

89951439387. 2

89951439388. 3

89951439389. 4

Question Number : 18 Question Id : 89951410027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A multinational enterprise that has a global product structure 1s

1. Likely to have product heads who are more powerful that country heads
2. Likely to follow a centralized system of decision making

3. Likely to derive significant global economies of scale and scope

4. All of the above
Options :

89951439390. 1

89951439391. 2

89951439392. 3

89951439393. 4

Question Number : 19 Question Id : 89951410028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A suitable control system that the Dean of a business school can emplov over Professors
primarily involved in guiding PhD (doctoral) students 1s

1. Rules and regulations

2. Financial incentives linked to publications achieved by the PhD students

3. Supervision by peer group of senior Professors

4. Culture and norms of the business school
Options :
89951439394. 1
89951439395. 2
89951439396. 3

89951439397. 4

Question Number : 20 Question Id : 89951410029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following was not cited as an advantage of the outsourcing arrangement between
Unilever India and Accenture India?

1. Outsourcing enabled Accenture to focus its human resources better

2. Accenture being an aggregator could gain economies of scale

3. Outsourcing enabled Unilever to focus 1ts own human resources better

4 Accenture was a specialist in handling such transaction intensive activities

Options :

89951439398. 1
89951439399. 2
89951439400. 3
89951439401. 4

Question Number : 21 Question Id : 89951410030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s not a strength of an unit that 1s designed organically?
1. Ability to solve innovative problems

2. Efficient utilization of resources

3. Being flexible to customer needs

4. Dealing with high degree of uncertainty

Options :

89951439402. 1
89951439403. 2
89951439404. 3
89951439405. 4

Question Number : 22 Question Id : 89951410031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Extent of centralization in an organization is difficult to understand because

1. It 15 an internal process of the organization that is rarely documented

2. Decision making has multiple stages with varying degrees of centralization

3. Centralization may vary across the different levels of hierarchy
4. All of the above

Options :

89951439406. 1
89951439407. 2
89951439408. 3
89951439409. 4

Question Number : 23 Question Id : 89951410032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an advantage of centralization?

1. It facilitates rapid action during crisis

2. It leverages the collective mind leading to better quality decisions
3. It makes it easier to implement decisions

4. It creates greater opportunities for developing leaders

Options :
89951439410. 1



89951439411. 2
89951439412. 3
89951439413. 4

Question Number : 24 Question Id : 89951410033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an entrepreneunal organization involved in oncology research grows in size, which of the
following is likely to happen?

1. Formalization increases while complexity and centralization reduces

2. Centralization increases while complexity and formalization reduces

3. Complexity, centralization and formalization reduces

4. Complexity increases while centralization and formalization reduces
Options :
89951439414. 1
89951439415.2
89951439416. 3
89951439417. 4

Question Number : 25 Question Id : 89951410034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is not a good reason for input based grouping in a hybrid
structure? Assume a multi-product organization

1. Sharing a scarce resource across different product divisions

2. Responding to varving market needs of different products

3. Standardizing certain policies (e.g., recruitment) across product divisions

4. Getting scale economies across product divisions in certain functions such as purchasing
Options :
89951439418. 1
89951439419. 2
89951439420. 3
89951439421. 4

Question Number : 26 Question Id : 89951410035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

For a multi-business enterprise with unrelated businesses in its portfolio
1. The respective business heads will have little or no authority in deciding the strategy of
their businesses

2. The respective business heads will have significant authority in deciding the strategy of their
businesses

3_ It will be easy for the corporate head office to create strategy for the different businesses
4. The corporate head office needs to ensure that there 1s high degree of standardization across
all businesses

Options :

89951439422. 1

89951439423. 2

89951439424. 3

89951439425. 4

Question Number : 27 Question Id : 89951410036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the case Jov of Running, one of the key concerns with splitting up the organization within
Bangalore

1. Identifying assistant coaches who can head the different units

2. Ability to attract more runners

3. Maintaining the one- community feeling in Joy of Running

4. Setting common standards across the units
Options :

89951439426. 1

89951439427. 2

89951439428. 3

89951439429. 4

Question Number : 28 Question Id : 89951410037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



An important leadership competence necessary for an organization that is operating out of
multiple cities in a diverse country, as discussed in the lecture, 1s

1. Addressing different needs of customers in various geographical locations

2. How to have adequate control over the operations that are geographically distant
3. Providing enough autonomy to leaders managing the different units

4.Getting adequate resources for growth and expansion

Options :

89951439430. 1

89951439431. 2

89951439432. 3

89951439433. 4

Question Number : 29 Question Id : 89951410038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the case Joy of Running, a key organizational challenge with the option of forward
integration, as discussed, 1s

1. Controlling city traffic during the organized races

2. Transiting an entrepreneurial organization to one that is professionally managed

3. Getting land and mnfrastructure for setting up an office
4. Sharing of values with full time coaches

Options :

89951439434. 1

89951439435.2

89951439436. 3

89951439437. 4

Question Number : 30 Question Id : 89951410039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What 1s the importance of organization’s purpose in decisions pertaining to organization
growth?

1. Organization growth dilutes the organization purpose

2. Drganization purpose should not change unconsciously because of growth
3. Organization purpose should not change because of growth

4. Purpose gives organizations the competitive edge

Options :

89951439438. 1

89951439439. 2

89951439440. 3

89951439441. 4

Question Number : 31 Question Id : 89951410040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following 1s most important for an organization to be consciously aware of
11 competitive scenarios

1. What kind of organization structure it should have

2. What 15 its core competence

3. What 15 the leadership pipeline that it can build dunng the growth phase

4_What 1s the advantage it has when compared to its competitors

Options :

89951439442. 1
89951439443. 2
89951439444. 3
89951439445. 4

Question Number : 32 Question Id : 89951410041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The Principal-Agent problem 1n organizations refers to
1. Dissatisfaction among the emplovees about working conditions in the organization

2. The owner and the employees of the organization not having similar goals
3. The emplovees of the organization unhappy about their compensation
4. Inadequate effort put in by employees of the organization

Options :

89951439446. 1
89951439447. 2
89951439448. 3
89951439449. 4

Question Number : 33 Question Id : 89951410042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s true in the context of overcoming the Principal-Agent problem in
organizations?

1. There should alwavs be complete convergence between the goals of principal and agents

2. In commercial organizations it 13 never possible to get convergence of purpose

3. In social organizations there 13 complete convergence between goals of principal and agents
4

. It 1s possible to get work done in organizations even if there 1s partial or no convergence

Options :

89951439450. 1
89951439451.2
89951439452. 3
89951439453. 4

Question Number : 34 Question Id : 89951410043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Under which of the following conditions, convergence of purpose 1s most difficult to achieve?

. When work 1s means to an end for the employee
. When work 1s intellectually stimulating

. When work 13 not financially rewarding

When work 1s physically demanding

e S

Options :

89951439454. 1
89951439455. 2
89951439456. 3
89951439457. 4

Question Number : 35 Question Id : 89951410044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s true for “direct supervision™ as means of control?
1. It 1s the most common form of control 1n factory shop floor environment
2. It 1s expensive to implement

3. It 18 suitable to bring about high degree of goal convergence

4. It 1s not an appropriate control system to be used in modern organizations

Options :

89951439458. 1
89951439459. 2
89951439460. 3
89951439461. 4

Question Number : 36 Question Id : 89951410045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following 1s “rule based control”™ most appropriate?
1. When the work 1s innovative
2. When the work involves considerable degree of expertise
3. When there 15 one best way of doing the work
4. When 1t 1s difficult to figure out the best way of doing the work



Options :

89951439462. 1
89951439463. 2
89951439464. 3
89951439465. 4

Question Number : 37 Question Id : 89951410046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Production target as means of controlling individual behaviour is suitable when
1. Production 1s an outcome of team based activity

2. Production 1s interdependent on success of preceding / upstream activities
3. Production can be meaningfully measured at verv long time intervals

4. Production is a clear function of individual effort

Options :

89951439466. 1
89951439467. 2
89951439468. 3
89951439469. 4

Question Number : 38 Question Id : 89951410047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Output based control 15 most effective when
1. The process 1s uncertain but the output can be measured within a reasonable time interval
2. The process 1s certain but the output cannot be measured within a reasonable time interval
3. The process 1s uncertain and the output cannot be measured within a reasonable time
interval
4. The process 1s certain but the output 15 significantly influenced by external factors
Options :
89951439470. 1
89951439471.2
89951439472.3
89951439473. 4



Question Number : 39 Question Id : 89951410048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Output control cannot be effectively applied 1n research and development because

. Research and Development does not produce measurable output
. The output may not be observable

. Research and Development cannot be made rule bound

. The frequency of output is unpredictable

B

Options :

89951439474. 1
89951439475. 2
89951439476. 3
89951439477. 4

Question Number : 40 Question Id : 89951410049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not true about culture control?

1. It 1s meant to bring about convergence of orgamization’s purpose with that of the emplovee
2. Tt 1z easier to implement than process based control

3. It 1s most difficult to implement among all four means of control

4. If culture control 1s effective, vou may not need other forms of control

Options :

89951439478. 1
89951439479. 2
89951439480. 3
89951439481. 4

Question Number : 41 Question Id : 89951410050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s not a key lever of culture control?
1. Inspirational leadership

2. Well-designed socialization process

3. Well-defined job roles and responsibilities

4. Highly motivated peer group

Options :

89951439482. 1
89951439483. 2
89951439484. 3
89951439485. 4

Question Number : 42 Question Id : 89951410051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From a transaction costs perspective, which of the following makes market based
arrangements (such as outsourcing) unfavourable?

1. Potential of opportunistic behaviour by the supplier

2. Potential of opportunistic behaviour by employees of organization

3. Tendency of suppliers to charge high profits

4. Lack of long term orientation from the suppliers

Options :

89951439486. 1
89951439487.2
89951439488. 3
89951439489. 4

Question Number : 43 Question Id : 89951410052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following was not within the scope of Adam Smith’s discourse on specialization?
1. Specialization of mdividuals

2. The disadvantages when individuals tend to be generalists

3. Need for individuals to focus on specific activities

4. Specialization of organizations

Options :



89951439490. 1
89951439491. 2
89951439492. 3
89951439493. 4

Question Number : 44 Question Id : 89951410053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Outsourcing deals have become increasingly popular during the last few decades because

1. Multinational enterprises are able to take advantage of economies of scale and scope at a
global scale

2. Business environment has become more uncertain and intensely competitive

3. Progress in information and communication technology has reduced transaction costs

4. Progress in information and communication technology has increased transaction costs

Options :

89951439494. 1
89951439495. 2
89951439496. 3
89951439497. 4

Question Number : 45 Question Id : 89951410054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which ofthe following is not true about a supplier that aggregates volumes?
1. It cannot innovate because it is alwavs focused on reducing costs

2. It delivers value by doing certain specific tasks better than its customers
3. It specializes bv focusing its resources on specific activities

4. Ttreduces cost by gaining economies of scale

Options :

89951439498. 1
89951439499. 2
89951439500. 3
89951439501. 4

Question Number : 46 Question Id : 89951410055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

An organization might go to the market (outsource) to acquire a specific knowledge from a
consulting organization, even if that 1s expensive because

1. Outsourcing can enable faster-time-to-market

2. The organization does not have the resources to develop that competence in-house

3. Developing the competence m-house will be very expensive

4. That specific competency 1s not deemed core to its operations
Options :

89951439502. 1

89951439503. 2

89951439504. 3

89951439505. 4

Question Number : 47 Question Id : 89951410056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An organization might not outsource an activity even if 1t makes economic or financial sense
because

1. There mayv be risks associated with leakage of confidential information

2. The core identity of the organization is tied to the activity

3. The organization may want to develop the competence for that activity for strategic reasons

4. Anvy or all of the above

Options :

89951439506. 1
89951439507. 2
89951439508. 3
89951439509. 4

Question Number : 48 Question Id : 89951410057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The craft mode of manufacturing, as discussed 1n the historical context of Ford Motor
Company, produced cars that were

1. Highly customized and expensive

2. Expensive and very similar to one another
3. Standardized and low priced

4. Highly customized and low priced
Options :
89951439510. 1
89951439511. 2
89951439512.3
89951439513. 4

Question Number : 49 Question Id : 89951410058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By standardizing the design and manufacturing process of cars, Henry Ford was able to
1. Make the manufacturing process very simple and easy to replicate

2. Produce cars that were easy to drive

3. Reduce the bargaining power of labour

4. Show hmitations of Fredrick Tavlor’s model of scientific analvsis

Options :

89951439514. 1
89951439515. 2
89951439516. 3
89951439517. 4

Question Number : 50 Question Id : 89951410059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Mass manufacturing reduces cost of manufacturing through
1. Increase in efficiency

2. PReduction in vanety

3. Introduction of high degree of customization

4. Options “a” and “b™ above but not “c”

Options :

89951439518. 1
89951439519. 2
89951439520. 3
89951439521. 4

Question Number : 51 Question Id : 89951410060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Organizations that provide customized products and services would typically
1. Have highly centralized operations
2. Provide greater flexibility and discretion to 1ts emplovees
3. Focus on efficiency as a primary goal
4. Provide lesser flexibility and discretion to its emplovees
Options :
89951439522. 1
89951439523. 2
89951439524. 3
89951439525. 4

Question Number : 52 Question Id : 89951410061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An organization that makes a strategic choice to be a “cost leader™

1. Needs to have a diverse product portfolio to meet customer needs

2. Will eventually lose out to competitors who deliver premium products

3. Often focusses on delivering basic functionality, reliably and consistently
4. Often focusses on innovation and rapid introduction of product variants

Options :



89951439526. 1
89951439527. 2
89951439528. 3
89951439529. 4

Question Number : 53 Question Id : 89951410062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Greater number of emplovees working from their homes will directly lead to an increase in
which form of structural complexity?
1. Horizontal complexity

2. Vertical complexity

3. Spatial complexity

4. All of the above

Options :

89951439530. 1

89951439531. 2

89951439532.3

89951439533. 4

Question Number : 54 Question Id : 89951410063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Whenever an organization structure is differentiated, thereis need forintegration because

1. Integration leads to better qualitv of innovation

2. Customers and markets demand integrated product or service

3. Emplovees work better when there is an integrated environment
4. Integration enables better utilization of resources

Options :

89951439534. 1
89951439535. 2
89951439536. 3
89951439537. 4



Question Number : 55 Question Id : 89951410064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not achieved through formalization?

1. Integration among the different organizational units
2. Leveraging diversity of skills and experiences
3. Coordination among different organizational units
4. Predictability and consistency

Options :

89951439538. 1

89951439539.2

89951439540. 3

89951439541. 4

Question Number : 56 Question Id : 89951410065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 15 a disadvantage of a “tall” organization?

1. It takes lesser time for information to flow from the bottom to the top
2. It takes greater time for the vision to be shared across the organization
3. It reduces the average span of control

4. Options “a” and “c” but not “b”
Options :
89951439542. 1
89951439543. 2
89951439544. 3
89951439545. 4

Question Number : 57 Question Id : 89951410066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s likely to have narrow span of control?

1. The research department of an organization employing senior scientists

2. The research department of an organization employving junior scientists

3. The mechanical engineering department of a reputed Engineering College
4. Factory shop floor of a manufacturing organization
Options :
89951439546. 1
89951439547. 2
89951439548. 3
89951439549. 4

Question Number : 58 Question Id : 89951410067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following best captures the trade-off involved with “work-from-home™?

1. Employee satisfaction versus customer satisfaction

2. Employee convenience versus need for controlling employee behaviour

3. Employee satisfaction versus projecting a consistent image of the orgamization to the
customer

4. Employee convenience versus need for physical presence for collaboration and
communication

Options :

89951439550. 1
89951439551.2
89951439552.3
89951439553. 4

Question Number : 59 Question Id : 89951410068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which ofthe following is a disadvantage of decentralization, especiallv for non-routine
decisions?

1. It consumes more time and resources

2. Itleads to poor quality decisions

3. It makes emplovees less accountable to the decision

4. Tt creates lesser opportunities for developing leaders

Options :

89951439554. 1
89951439555. 2
89951439556. 3
89951439557. 4

Question Number : 60 Question Id : 89951410069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an entrepreneurial organization involved in e-commerce grows in size, which of the
following is likely to happen?

. Complexity and formalization reduces while centralization increases
. Complexity and centralization increases while formalization reduces
. Complexity and formalization increases while centralization reduces
. Centralization and formalization increases while complexity reduces

B

Options :

89951439558. 1
89951439559. 2
89951439560. 3
89951439561. 4

Question Number : 61 Question Id : 89951410070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



When we group people by output (e.g., product), we are trying to ensure that

1. There 1s high collaboration among employees who are involved with the product

2. There 1s high collaboration among employvees who are involved with a particular function
(e.g_ Sales)

3. There i1s high degree of resource sharing among emplovees who belong to a function

4. There is possibility of super-specialization and developing deep functional expertise
Options :

89951439562. 1

89951439563. 2

89951439564. 3

89951439565. 4

Question Number : 62 Question Id : 89951410071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Compared to a functional structure, a product based structure would be

1. More responsive to market demands

2. More efficient in utilization of resources

3. More suitable in developing specialization among employees
4. More suitable in developing specialization among employees

Options :

89951439566. 1
89951439567. 2
89951439568. 3
89951439569. 4

Question Number : 63 Question Id : 89951410072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In the context of functional structure, social interdependence referred to
1. Employee’s peer group having the same competence as the employee
2. Emplovee’s superior having the same competence as the emploves

3. Input based grouping leading to super-specialization

4. Collaboration happening between employvees from the same function

Options :

89951439570. 1
89951439571.2
89951439572.3
89951439573. 4

Question Number : 64 Question Id : 89951410073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can be effective in developing T-skills?

1. Job rotation

2. Providing training on different aspects of management functions
3. Developing in-depth specialization

4. Options “a” and “b” but not “c”

Options :

89951439574. 1

89951439575. 2

89951439576. 3

89951439577. 4

Question Number : 65 Question Id : 89951410074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the statement that is true

1. Sales function should alwaywvs be centralized in a multi-product company to get customer
satisfaction

2. Itis necessarv fora large organization to persist with the structure that it creates

3. A multi-product company can have dissatisfied customers as a consequence of product-silos
4 Purchase function should always be centralized in a multi-product company for better
bargaining power
Options :
89951439578. 1
89951439579. 2
89951439580. 3
89951439581. 4

Question Number : 66 Question Id : 89951410075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the case on consumer durable company that was discussed. the centralized (functional
grouping) sales function became problematic for the company because
1. Multiproduct companies should never have centralized sales function
2. Competitive dynamics required adopting different strategies for different products
3. The sales people did not have enough financial incentives to sell their products
4. The company was changing structures too often
Options :
89951439582. 1
89951439583. 2
89951439584. 3
89951439585. 4

Question Number : 67 Question Id : 89951410076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The consumer durable company discussed 1n class decided not to recruit the sales person

because
1. The salary demand of the sales person seemed unreasonable
2. The HR Head had greater power in the organization than the Head of Television division

3. There were doubts about the competency of the sales person
4. It would have created inconsistency in the human resource policy of the organization

Options :

89951439586. 1
89951439587. 2
89951439588. 3
89951439589. 4

Question Number : 68 Question Id : 89951410077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A multi-business enterprise operating several related businesses is likely to have
1. A large corporate head-office performing common functional activities for the respective

businesses
2. A small corporate head-office performing commeon functional activities for the respective

businesses
3. A large corporate head-office performing a few functional activities for the respective

businesses
4. A small corporate head-office performing a few functional activities for the respective

businesses

Options :

89951439590. 1
89951439591. 2
89951439592. 3
89951439593. 4

Question Number : 69 Question Id : 89951410078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A multinational enterprise selling a product that requires lot of customization to local
preferences

1. Should centralize most of its decisions at the global head office

2. Should provide significant autonomy to its subsidiaries

3. Should trv to achieve economies of scale and scope at a global level

4. Should view the world as one standard market

Options :

89951439594. 1
89951439595. 2
89951439596. 3
89951439597. 4

Question Number : 70 Question Id : 89951410079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A multinational enterprise selling a standardized product such as engineering goods
1. Should provide significant autonomy to its subsidiaries 1n deciding product mix
2. Should trv to achieve economies of scale and scope at a global level

3. Should view the world market as highly fragmented and differentiated

4. Should follow a highly decentralized process of decision making

Options :

89951439598. 1
89951439599. 2
89951439600. 3
89951439601. 4

Question Number : 71 Question Id : 89951410080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A multinational enterprise following a multi-domestic strategy

1. May have its subsidiaries having different product portfolios

2. Is likely to give significant decision making authority to local subsidiaries
3. Derives significant advantage of its global size and reach

4. Options “a” and “b” but not "¢~

Options :



89951439602. 1
89951439603. 2
89951439604. 3
89951439605. 4

Question Number : 72 Question Id : 89951410081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A multinational enterprise with a global matrix structure

1. Will incur significant overheads in managing the complexity of the structure

Will alwavs provide greater power to the product heads rather than the country heads
Will alwavs provide greater power to the countrv heads rather than the product heads
Will sacrifice economies of scale in order to achieve local responsiveness

B

Options :

89951439606. 1
89951439607. 2
89951439608. 3
89951439609. 4

Question Number : 73 Question Id : 89951410082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Despite its overheads, organizations mayv prefer matrix structures because matrix structures
1. Actas a mechanism of natural selection for potential leaders

2. Act as a mechanism of natural selection for potential leaders

3. Option “b” but not option “a”~

4. Both options “a” and “b”
Options :
89951439610. 1
89951439611. 2
89951439612. 3
89951439613. 4

Question Number : 74 Question Id : 89951410083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What did Alfred Sloan achieve through his manufacturing model at General Motors?
1. Lesser varety

2. Mass customization

3. He broke the variety versus scale tradeoff that Ford faced

4. Greater scale of operations bv introducing more variety

Options :

89951439614. 1
89951439615.2
89951439616. 3
89951439617. 4

Question Number : 75 Question Id : 89951410084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s usually not a concern for organization design?
1. Achieving unity of effort
2. Achieving congruence of goals among emplovees
3. Leveraging the variety of skills and competencies of employees
4. Managing coordination and dependencies among emplovees

Options :

89951439618. 1
89951439619. 2
89951439620. 3
89951439621. 4

Question Number : 76 Question Id : 89951410085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following domains 1s likely to see a lot of application of concepts related to
organization design?

1. Corporate finance

2. Operations management

3. Macro-economics

4. Strategy implementation

Options :



89951439622. 1
89951439623. 2
89951439624. 3
89951439625. 4

Question Number : 77 Question Id : 89951410086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement

1. Organization design is an important enabler of organization strategy

2. Organization strategy is an enabler of organization structure

3. Orgamization strategy 1s an enabler of organization design

4. Orgamization structure determines how organizations should react to competitors

Options :

89951439626. 1
89951439627. 2
89951439628. 3
89951439629. 4

Question Number : 78 Question Id : 89951410087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following will an entrepreneurial organization be typically good at?
1. Creating a powerful brand
2. Hawving a wide geographic reach
3. Coming up with innovative ideas
4. Creating career opportunities for its employees
Options :
89951439630. 1
89951439631. 2
89951439632. 3
89951439633. 4

Question Number : 79 Question Id : 89951410088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following will be a typical strength of a large organization?

1. Creating a powerful brand
2. Flexibility in responding to customer and market demands
3. Rapid implementation of mnovative ideas
4 Quickly changing internal processes to accommodate employee needs
Options :
89951439634. 1
89951439635. 2
89951439636. 3
89951439637. 4

Question Number : 80 Question Id : 89951410089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following 1s not a reason why specialization leads to improvement in
performance?
1. Lower setup time
2. Benefits of experience
3. Greater innovation
4. Higher competitive spirit
Options :
89951439638. 1
89951439639. 2
89951439640. 3
89951439641. 4

Question Number : 81 Question Id : 89951410090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s true about specialization?
1. Specialization alwayvs leads to increase in efficiency

2. Specialization is usually associated with high degree of expertize

3. Division of labour always leads to specialization
4. It 1s disadvantageous for organizations to specialize
Options :
89951439642. 1
89951439643. 2
89951439644. 3
89951439645. 4

Question Number : 82 Question Id : 89951410091 Question Type
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : No Is Question Mandatory : No

The biggest advantage of a highly outsourced model like Cunningham Motors 13

1. Its ability to leverage specialization of other orgamizations
2. Its ability to reduce costs

3. It ability to innovate continuously

4. Its ability to be flexible to customer demands

Options :

89951439646. 1
89951439647. 2
89951439648. 3
89951439649. 4

Question Number : 83 Question Id : 89951410092 Question Type
Correct Marks : 1 Wrong Marks : 0

Fredrick Tavlor found the best way of doing activities by
1. Conducting interviews with factory workers
2. Doing experiments on the factorv shop floor
3. Hiring experts who can conduct thorough analysis
4. EKeenly observing workers in their natural settings

Options :
89951439650. 1

: MCQ Option Shuffling : No Is Question Mandatory : No



89951439651. 2
89951439652. 3
89951439653. 4

Question Number : 84 Question Id : 89951410093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to determine the best way of doing an activity, the activity must be
1. Routine
2. Involve manual labour
3. Done by blue collar workers
4. Repetitive

Options :

89951439654. 1
89951439655. 2
89951439656. 3
89951439657. 4

Question Number : 85 Question Id : 89951410094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the context of our discussion on control svstems_ “task programmability” refers to

1. Extent to which the result of the task can be measured
2. Extent to which the task can be broken down into smaller steps
3. Extent to which the task can be made amenable to rules and processes
4. Extent to which the result of the task can be measured within a defined interval
Options :
89951439658. 1
89951439659. 2
89951439660. 3
89951439661. 4

Question Number : 86 Question Id : 89951410095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In the context of our discussion on control systems, “output measurability” refers to

1. Extent to which the result of the task can be measured

2. Extent to which the task can be broken down into smaller steps

3. Extent to which the task can be made amenable to rules and processes

4. Extent to which the result of the task can be measured within a defined interval
Options :

89951439662. 1
89951439663. 2
89951439664. 3
89951439665. 4

Question Number : 87 Question Id : 89951410096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A task that his high on programmability and low on output measurability within a defined time
interval should be controlled primarily by
1. Rules and regulations
2. Financial incentives linked to the results achieved by the task
3. A mechanism of intense supervision
4. Norms and culture of the organization
Options :
89951439666. 1
89951439667. 2
89951439668. 3
89951439669. 4

Question Number : 88 Question Id : 89951410097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A typical task done by an assembly line operator involving significant manual intervention
will be

1. High on programmability and low on output measurability

2. Low on programmability and low on output measurability

3. Low on programmability and high on output measurability
High on programmability and high on output measurability

e

Options :

89951439670. 1
89951439671. 2
89951439672. 3
89951439673. 4

Question Number : 89 Question Id : 89951410098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characteristics make tasks suitable for outsourcing to a third - party

aggregator’
1. Ifthe task is not transaction intensive and does not have significant confidential
information
2. If the task 1s transaction intensive and does not have significant confidential
information

3. If the task 1s not transaction intensive and has significant confidential information
4. If the task 1s transaction intensive and has sigmificant confidential information
Options :
89951439674. 1
89951439675.2
89951439676. 3
89951439677. 4

Question Number : 90 Question Id : 89951410099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following promotes efficiency in an organization by reducing discretion?
1. Complexity
2. Formalization
3. Centralization
4. Options “b” and “c” but not “a”
Options :
89951439678. 1
89951439679. 2
89951439680. 3
89951439681. 4

Question Number : 91 Question Id : 89951410100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the statement that 1s not true
1. Hornzontal complexity refers to the number of departments and divisions in an
organization

2. Honzontal complexity enables organizations to leverage specialization

3. Hornzontal complexity enables orgamzations to achieve unity of effort

4. Horizontal complexity is likely to have a positive correlation with vertical complexity
Options :

89951439682. 1
89951439683. 2
89951439684. 3
89951439685. 4

Question Number : 92 Question Id : 89951410101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should lead to a mechanistic design?
1. Need to be cost competitive
2. Neead to deal with unanticipated problems
3. Need to provide high degree of autonomy to employees
4. Need to react quickly to market dvnamics

Options :



89951439686. 1
89951439687. 2
89951439688. 3
89951439689. 4

Question Number : 93 Question Id : 89951410102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An important task of a matrix leader 1s to
1) Eesolve conflict that constantly arises among the matrix bosses
2} To ensure that the matrix emplovee does not get demotivated by the conflict among
his bosses
3) To ensure that there 1s little interdependence among the matrix bosses
4) To create balance of power between matrix bosses
Options :
89951439690. 1
89951439691. 2
89951439692. 3
89951439693. 4

Question Number : 94 Question Id : 89951410103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following 15 a key learning from the case The Decision Dilemma?
1. It 1s difficult to transform a umit designed organically into a mechanistic structure
2. It 1s difficult to transform a unit designed mechanistically into an organic structure
3. Both options “a” and “b”
4. Option “a” but not option “b”

Options :

89951439694. 1

89951439695. 2

89951439696. 3

89951439697. 4

Question Number : 95 Question Id : 89951410104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A tvpical structure for post- entrepreneunal single product organization 1s

1. Functional structure with input based groupings
2. Divisional structure with focus on customer responsiveness
3. Hybnd structure that has elements of both input and output based groupings
4. Matrix structure with linkages between products and functions
Options :

89951439698. 1
89951439699. 2
89951439700. 3
89951439701. 4

Question Number : 96 Question Id : 89951410105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Structural groupings are intended to

1. Leverage diversity, bring about coordination and achieve unity of effort
2. Leverage diversity, bring about coordination but not concerned with achieving unity of
effort

3. Leverage diversity, achieve unity of effort but not concerned with interdependencies
4. Achieve unity of effort, bring about coordination but not concerned with leveraging
diversity
Options :

89951439702. 1
89951439703. 2
89951439704. 3
89951439705. 4

Question Number : 97 Question Id : 89951410106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



For a multi-product company, a functional structure 1s suitable

1. Under no circumstances, 1.e_, multi-product companies must have product based
structure
2. When the products are closely related to one another
3. When the products are very different from one another
4. When production requires high degree of specialization
Options :
89951439706. 1
89951439707. 2
89951439708. 3
89951439709. 4

Question Number : 98 Question Id : 89951410107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When we look at organizations from an information processing view, we intend to

1. Maximize communication across departments and minimize communication within
departments
2. Maximize communication across and within departments

3. Ninimize communication across and within departments
4. Minimize communication across departments and maximize communication within
departments
Options :

89951439710. 1
89951439711. 2
89951439712.3
89951439713. 4

Question Number : 99 Question Id : 89951410108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the statement that 1s not true

A functional structure can be designed organically

A functional structure always needs to be designed mechanistically
A divisional structure can be designed mechanistically

4. A divisional structure can be designed organically

i el

Options :

89951439714. 1
89951439715. 2
89951439716. 3
89951439717. 4

Question Number : 100 Question Id : 89951410109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A multi-business enterprise having unrelated businesses 1n its portfolio 1s likely to have

1) A small corporate head-office performing a few corporate activities for the respective
businesses correct

2) A large corporate head-office performing common functional activities for the
respective businesses

3) A small corporate head-office performing common functional activities for the
respective businesses

4) A large corporate head-office performing a few corporate activities for the respective
businesses

Options :

89951439718. 1
89951439719. 2
89951439720. 3
89951439721. 4



